R#7TZX b~ HEA BE 01

1. z%KkdDL (S0, A19308, BHE2o508, C#Hin)

(1) xxb=xx3+40 (2) rX24+45=xx6-—15

(3) zxX6=x+60 (4) 40—z x = =2 x2+90
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2. zEKDK (SH30M, AH149308, BE27507, CHhi4s)

(1) TXT7T=xx2+80 (2) TX3+35=xx8—-25

(3)  2x9=x+200 (4) 120—a:><%:x><2+50
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R#7TA N HAiEA BIE 01 EBEESR

1. z%KkdDL (S0, A19308, BHE2o508, C#Hin)

(1) rx5=xx3+40 (2) rXx24+45=xx6—-15
rXx5—xrx3 = 40 —%FBIH 45415 = xx6—2xx2 —kFIH
zx(5-3) = 40 60 = ax(6-2)

X2 — 40 60 = T x4

T = 4022 60 =4 = T

x = 20 2 x = 15 EZ
*BIHE =] OXMNANIZBEIT S & +, - T 5. * 4+ IR BEDIIRIET 5.

(3)  ax6=x+060 (4) 140—xx%:xx2—|—90
ex6-x = 60 KRG 140 = a:><2+x><% KRS
zx(6-1) = 60 “Kzr=zx1 50 _ xx(2+%>

x5 - 60
50 - T x2.5
T = 605
50 2.5 = T
= 12 B2 -
* x = 20 B
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2. zEKDK (SH30M, AH149308, BE27507, CHhi4s)

(1) zxT7T=zx

T XT—2X%X2

xx (7—2)

*BIH =] OHANCHET S & +, - 2T 5.

2+ 80
= 80 <K HHIH
= 80
= 80
= 805
= 16 EA

(3) =x9=x+200

rTX9—x

xx(9-1)

= 200 K FEIH

= 200 “Yrr=zx1
= 200

= 2008

= 25 B

© #¥ -

(2) TX3+35=xx8—-25

35425 = xx8—ax3 <—kBH
60 = xx(8-3)
60 = x5

605 = T
x = 12 - BA

* + IZRBEDIIBIET S.

(4) 1207x><%:x><2+50

120 - 50 = ;U><2+x><% B
70 = xx(2+l)
3
1
- 92
70 T X 3
70+2% x
T = 30 Bz

BEERLU L2012 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

